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Section A : {30 x.Z marks}

Fer each questlon from 1 to 36, four options are given. One of them i$ the
correct answer. Make your-choice {1,2,30r 4) Shada the eorrect oval {1, 2,
3-or4): on»the-ﬁ)ﬁﬁif al-AnswerShdst provided: .

§

iyt SRR Rt below. .

=3
¥
N
:

Sptder : 4 *
. Rambutan Tree | . Televisien

Which one of the follawirig set of headings best repicsams R and 8?7

- -: iﬁ. — - ~ S — aie .-'.l.. :‘. :._.%...'...: <. e
() | Canrespendio touch Cann@’t 1e "'pﬁnd e t@uch

" {(2) Can reproduce Can ireproﬂuﬁe '

(3) Can make its own food

(4) Can move -’freeiy from place
"~ toplace

25"



The diagrams below show twe different types of fiving-things, B and &Q,
and they have some common charactesstics.

Gg.. - ...

Whilcki of the follewing eharacteristies de P and Qhave in commen?

A Baff feed on dead matior.

B Both reproduce from spores.

€ Both cannot make their own food.

D Both can-réspond-te changegs in their environment.

{1} AandB only
{2) Cand Donly
(3) B,CandDonly
4). ABCandD




3

Linda was asked by her Seience teacher to classify the followmg animals

into 3 groups.

Whlch of the Following- charactéristics could Llnda use to classify the

Bat, an_:’?)y,_ G;oldﬁéﬁ,,CQCkroacﬁ nymph, Silverfish

ahiove animals into 3 grotps?

A . Number of legs.
B Typeofmovement
¢ M'eﬂlbd;qf"reproa"iﬁsﬁoﬁ-

A ﬂnfy
&.and B anfy

- B and (9 only:

A,Bamiﬁ“

]



4 Sﬁudy';ghe ¢lassification; charf befawe. -

| Animals
Has hair as outer | ! Has scales as outer |
‘| bodycoveiing J. | . bodycovedng

Can_'ﬂy o Can"not; iy

_Eatsplants | | Doesnol eat plants

X 2- | é Y ,Q:

B-as_ed' en‘tﬁg c%assiﬁeaﬁen chait gbove, which Qf‘ibe'foi[@w‘fﬁg stafements
abéut animals A, B, € and D-are definitely coment?

Animal W lays &ggs.
"Animals X and Y cannot fly.
Animal Z breathes through gills.

OO W >

(1) AandBonly
(2) CandDonly
(3) -BandDonly
(4) A,B,CandD



5. Glad classified some objects into fWe' grolips as shows in the: diagram
below: ' '

- Objests |

_Ganbend easily | | _CannotBend éasily

- Floats gpiwater | | Sinksiiwater | |z |

Which erie of the folfewing canecﬂyrepreseﬁfs)ﬁﬂf and v

| (Y | rubber tube . | styrofoam box | stone

(2) | plastic ruler | stone natl

@ | nail | rubberball | stone

{4) | plasticstraw | leather belt { metalrod




Jaelyn did & scrateli test on 4 different materials, A, B, C and D, fd see
which material was the hardest. Shé used 3 different objects 6 scratch.
each of the materials. The table belew shews hefr results.

L. Matedal | Glass > Rock

s | o - >
B + X ¥
G ¥ N 3
(o x. % i

T -
Key:.

+ — serateh marks ars seen

X = no scratch maﬁvs are- seen

Wﬁlch sofie of the. followirig < shaws the eoméet arrang‘emen{ : of this: aterials
from the 18ast fard to the hardest‘?r

My A/BBC
8) A B,B,C
{4y ¢€,B,DA




Faur pieces of materals, P, Q, R and S, of the same size weére weighed
before they were immietéed infa & eontainer of water as shown below.

ces. of mafenals Wi & taken out and werghed .

agaln Theu‘ mésses were fecorded it the table bélow.

" Materral Massat
8
Q- g
5 35

Based ofy the infarmiation reéotded tn the table above, whicti one of the
abave mateﬁaT*s js-fRost Stftable feif'makmg aramcaat"

(1.
{21
@y
@)

=
g
R
S

2



8 Bee Eng collecied 2 feaves as shown below. |

Which of tHe foliowing staterients-islare trc of the fwo leaves above?

A Boethleaves havé:tﬁle“"fséiaie edge..
8  Bolhlgdves havé e same shape!
€ Hothrlsaves hava th Saine fye of vein patfer.

(1} Aonly
(2) Bonly

- {38} Adnd C only
{4 A, Béandc



The diagrarn befow shows a planf.

'Waié?-i‘sﬁé‘éééﬁeé

G

Water am‘i_fc@d are

-Wa’teﬁs a]aéef_ﬁd"' T A

(4)

thr@ugh st@maia

Wafex—: and ‘f@@dﬁare
- Harispe ded |

Waie; is abserbed

-10-
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16. Which one of the following plant parts is & fruit?

(1) 2)

onion carrot

(3 @)

cucuribir S esile

11.  Which of.the foliowing érgjans dre part of. the skelétal systern?-

Skull.
Muscles
Rib cage
Back bone

O 0w >

(1} A andD only
{2) B andConly
{3) CandDonly
My A, CandDonly

~11-



12,

13.

Which one of the fotfowmg statements is true of the systems in our
bodies?

(1}
(2}

o

{4}

The skeletat system alone enables our bodies to move.

Thé CIrchatery system cames oxygers from all parts of ouf bod[es
to the lungs. .

The digesiwe sys_fm- cardes dlgested food te the. rectum to be
removed femourbodies.

The resplraf@g@ system enabfes ?the exchange of gases [aefween
our badies andthe envirorimeént,

Which of the following statements are frue about the human digestive
system?

(%)
)
{3)
&

£ “The saliva in e m@yﬂ% hélps fe d{gest the feod.
B ﬂsgesﬁmmef f@@d 1% ﬂ@mpl‘eieé inthe smaif Sritestines.
€ &ﬁgﬁﬁ& BF %s’aef} :taf{es @iac;e in thg: gulfef ‘and 1he sf@mach

£ ‘Mest of the water from {he undigested food is absorbid. by '

the body in the: Iarge mtes{mes

A and B erﬂg
€ and Donly
A and D only
A, B and D only

12



14. Which one of the following shows the cerrect life Cyd-‘e of a chillf plaint? -

AN

(1)

(2}

{3}

(4)

Flower

Fruit

Seediing

Seed:

Seedling

- Flower

it |

Seed

Fruit

N

Seedhng

F{@wer

Seed

Seed

N
N

Frait

Seedhng _ |

N

Flower

i

13-




15.

gi:3

The diagram below shows the eross-section of a seed.

 Which part of the seed provides food ferthesaeélmg?

(1 A
2y B
6] €
<4§

......

wﬁh»wet c@&en wool and tabulated their gr@w‘th ah the {ab!e belew

Average length e?sh@et @?-g_ermmatmg

seeds {cm)
.Number of | 2 4 8 8 {10 |12
~days : ' -
Seeds T - N P
A 18 15 |27 {3 132 |55

0 105 114 |17 |28 {33 |43

Basgd on the resdlis shqwn in the tabie ‘above, wj,agi Gan Martin, conclude
a‘ﬁaﬁﬁﬁé exiaeﬁment’?

(1} SeedimgsA Jrewfaster. than seedilngs B,
2y 8¢ 30d B-started germiinating on day 2.

@) S“eedlmgs*l gréivheeﬂtﬁ‘er”than seeahngs A
{4} - All the Seeils, A and B, germiinatéd by 48y 12.

14 -

21



17.

18.

Which of the following statéments "about the life cyeles -of" plants i the
jungle are true? :

(1)

(2}
(3}
(4}

A Thiey follow a patterry.

B They are natural processes. '

¢ Allthe ¢ycles bedin with & seed.

13 All the cycles take the same time fo complete.

A and B only

€ and.D only

A Band € onl’y
A B, Cand D

Which one of the folfowing is net a cyele?

(1}

@)
(3)

¢4y

Tidal change
iay and right
Raiii and shine
Séasonalchange

-15 -




19.

Bernie poured 200ml of water inta twe identical contairiers, X and Y. He
placed a plant it confamer Y before pouring a layer of oif on the wafter
surface in both containers as shown below

plant

Contal‘nei; X "é@ﬁiéinef ¥

He then pEaced the fwo centainers in hig roGim for 3 days ard recorded the
amount of water in each container daily. Bemie then presenfed hIS results
ina bar graph.

Which one of the feffomng baf graphs shéws the correct amount of waler.

in each centainer after 3- days“'?

% C"enfamer‘(

o Key . Centamerx b

Amount of water [mi) , - Amount of water (ml)
(1) 250 - _ (2) 250,
200 - ; 200 | pmm
150 - 150 4 [
100 - 100
" 50 4 50
O R 2‘:‘:‘22?. Z L TR i -.-.~.<.'.-- ) . 0 B TRRTny % . 7
Day 1 Day 2 Day3 ) Bay 1 Day.2
Amount of water {ml) Amount of water {mi)
(8) 250 4 . - 4) 950
200 - 200 -
150 4 150 -
100 + 100
50 50
0 0 -

Bayl  Day?2

-16-

. Day 3

Day 3
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20.  Which ane of the following. pairs of animals is. correctly matchied?

(1)

T

B!

. (&}‘

-17-




21.

Study the flowchart befow. _

Anitnals. b

< Dloes it haved:stags

“Poss thi Jourg .,
resemble the aduliz

Based on the informiation given in the flowchart, which one of the fellowing
correctly represents R, S and T7

R ) ] F

(2) platypus |  grasshopper | mealwerm beétlie

@ | whale |  chicken |  mosquito

(4) Tiger butterfly T dragomty

-18-



22.

23.

The graph below ‘shows the numbet of‘ days of each stage in the: life cycle:
of an insect.

14 -
12 -
10

Days

Stags

Egg Nywiph

Based on the geaph abeve, which of tfae folfewm Ja; siafemenis aboutthe
nsect is.comreet?

{1}  Thelife cycleofithe insget-has: 4 siages.

{2  The insectiives as an adultfor 18- days.

{3}  The insect's lifespan is less than 4 wieeks. -

{4}y  The young takes 16 days fo besonean adult after the: edgis

hatched.

A

B
C
D

" Which of the following statements about matter and non-matter are true?

All:-matier. £an-be seen.

Matter has mass but npn—.m'étter does not.

Matter occupies space but nen-matter-does not.

Matter &an exist-in three sta’tes while Ron-matter cannot.

{t) AandBonly

A2 Cand D.only....

¥ B, TCandDoily
{4 A,B,CandD

-19-



24.  Four SImlfar-srzed recfangufar Bloeks, P, €, R and S, madé of different
iriatetials, were hung o & Iever bafaﬂce: as-sfiown berow ’

EHE \.’. e
B

- on

Set-up 3

Which: of the rectangular bloeks, P, @, R andS, could |

EEEH in set-up 4 represent?

1)
(2)
(3)
14)

s
Q
&

~-20-~



25: A group: of students had to conduet some mvestigatlons te answér a fewr
' Science questions.posed by thgic-tsacher. - They were givéi tié following

apparatus by the faboratery technician.

200ml of
water

plasticine ball beanng
“.. 250mt
measunng _

eylinder

Using these apparatus, which of the follewing ques{i@n{s) pesed by their
teacher weuld the greup of students be-able T HRswaE.

(1)
(23
(3}
)

A Is the' vohkme.of the ball beanng 30eni™F
-8  Doesthe balf“af plasticine float or ‘sink.if wafer?
¢

Diges ihi ball bearing talke up.more space Hian: the ball.of
plasticing?

o Ts thie mass of the balt of. plasﬁcme greater than that of the
baik bearing‘?

Aand B only

Cand B only
A, B and C only
A, B, CandD

-21 -



26.

The diagram below shiows a pole hanging from the eeiliig. End ¥ of the
pole has. 4 similar metal rods hanging from it while end Z of the pole tias a

water bottle filled with wafer hanging from it,

ceiling

| S T ~f}pole

=/ — 4 '-'-_-'“j'_- - mietafrods.

If the pele was balanced, whicki of the f:’@ﬂewi‘ﬁgg statements.are correct?

M)

2)
{3)

{4)

¥ the watér inside the water bottle was poured away, end ¥

A
wetld be hidher than end £

B if pne of the metdl rods was rémoved from the weight
hanger end Z would be lower than end Y.

C The filled water boftfe-had the same:mass as the four metal
1ods. ‘

D If anether idéntical métal rod is ad’ded to ends Y and Z, the
pole would still be balanced.

A and D ohly

B and C only

B, C anrd D only

A, B, Cand D

- 27 -
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27. Study the flowchart below.

Matfer

Canlt’ée _ e VO
compressed?

“Boes it have: :j'
~_ adefinite shape?

_Does it have g«
“ifinite volungZ—"

Yes

Which-ene of the following eorrectly represents G, H and J?7

G ! H J

"'_(1)1 T Sponge | R T o

“{2) Oxygen Water Coin

) Water |  Catbon Stone
(4) { Orange juice Water ‘Metal rod

23 -




28.

Thie diagram berew shows 3 substances D, E and ¥ i3 similar
c@ntalners‘ :

Bised 6n the abeve diagram, which of the following statements are .
definifely cofrect? .

A Substanse. B isa sehﬁ.
B Substaﬁce Ef rs a sehcf

_24 -

47



29. Ismail has a communicating Véése_f- ag shewr in ﬁﬁe'dfégtém- bélow, He
put a stepper at tube A-and poured 200mi of water info the vessel througtt

tube E.
A i — wafer poured i
stopper —@; : 8 G‘:- _ [; B /—-

What is the final water levelin the fubes, A, B, €, ) and E affér Isiail had.
poured in the waler?

()

(3) (4)

-25-




30.

Two identicat conicat flasks M and N are jo.fns-d fo an air pump as sfiown

i the diagram below. Eachilask can hold 256 em® of matter. The handle

of the aif pump is raised and pushed déwr, pumping 100 em® of air intd

the conical flasks.

conjcat flask M | { conieat flask N

S —100 om?® of water

What is the final volume of air in the fwo Fasks? -

T v:afume efancm
SURE
@ |
@ | 300om

’Sf‘" f‘mie- ﬁT At in

(4) 750 o™ T 150 om®

Fhkkde END OF SECTION A kkk Rk

-6 - .
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Section B (40 marks}

"For quesﬁons 3t - 44 write your afiswers inthis booklet.
The: number of miarks available is shown in brackets [ Jat the end of each duestion or

part quest:an

31.  Diagrany Ahelow shows a plant, the Venus F 'é@; {t i & Garnrvorous plant that
o catches an&digests animal prey—-mosﬂy mset;tsg

houseflg -

Digram & below shisis the'léat shabpitshuliafer e honsely fiasdandsd bn.it

‘housefly

fa) Basgd on the above observation, state one’ thing that living things can do
as shown by the leaf of the Venus Flylrap. 'Kl

{b)  The Venus Flytrap has been observed to grow ‘t@WardS fight. Suggest a
. reagon-why this is so. 1

53%



32  The diagram below shows fwe living things, R and S

R s

Based on what you can. obgve in the abeve diagram, stafe ore, similarity and:

one difference between the twe plants. {Be-not compare size and SHAPE} [2

Difference:




33. The table below lists the characteristics of fout different living things, P, Q, R and
S. A tick. (\f} in the box indicates the chardeteristic whieli the fiving thing has.

| Characteristic of living thing U Living Things.
| Gives birth fg live young ' ¥
[ Takes in dissbived oxygen ’thraugh s '
_gﬂls :
N - ¥ *J
S 7 1

(g} Based on the mfermatieﬂ giver in the table abeéve, place the four hvihg
thmgs in the classification chart befow: by Wiiting the lstters, P,-Q, R and'S:
in the boxes provided below. [21 )
, _-Li'yingr Fhings - |
* Anithals I Planis
Fish insect Mammal Flowering " Non-flowering
{(b) Can i’he spider be classified under the “Insect” group? Give 2 reasons fo
justify your answer: 21

£



34,

(8}

(b)

A metal balf is hung froni a support with & ehairy.
level as shown below and allowed to drop. As’ the metal swings downwards, it
hifs & plece of material that is put in its-patfr. The- ‘hiight of the ball frony the fop is
varied tilF the dowhward swing of the ball breaks the pieci: of material.
herghf (H} ig then recorded. The process is repeated with different fypes of

‘matedals; A, B C ané B.

The results of the experiment aré recorded in the table below:.

lt is then razsed {o a eerfain

Thig

__Typés of materials. __Hiemy. .
R G
B . 3 ‘I@
B - 3% ‘
Which material (&, B, C o D) has the greatest strength? o
Expiain your answer above.

2=




35, Johnriy was shown a picﬁife of a motorcycfe crash helmet as sho'\jvn below.

© Hé was told that i-he‘:‘p.‘urﬁééés of paris. wand Rare as follows:

Part € Fo protéct thie Head in the.event of ait aceident
Part R: Toprofect the rider’s eye from dust. - |

He was also-teld that part € is made from a special fype of plasticthat is light and
is as $trong as melal. ’ _

(a): Suggestareasonwhy part Qis netimade of metal. K

(b)  Johnny then suggested fhat 2 materials, glass or plastic, can be used to
make part R. Which material, glass or plastic, will be more suitable? Give
a reason for your answer. 2]




36 A piant with white flowérs was placed i a beaker of pmk—coloured watet. It was
left in the SClence room for a weele,- A week lafer, it was observed that the
flowers were still nice and fresh But there was 4 notxceabie difference. -

plant with while
' ﬁqwe'rs-
Beaker —
| 53— pink-cofoured water
(e} VWhat was the difference that was abserved? | 11
(b} -Explain your answer in (). 2}

{c) A cut made goress the stem as shown above révealed: that paits of the
stemy had paén stained pmk In the cross-section of the stem belaw
Shade ihe paits of the stem that had been stained. 1]




“37. The flowchait below shiows how gaseous exchange takes place in a body system.

Oxygen then fravels
to ergan &

b d

¥

......

N3 .:§.fefeased in ordén

Based on {ﬁé :ﬂ'owéﬁari éb&:&e-.

{a} i‘jraw using aows, fe me}mate tube € diid organ G in the dlagram belowr.
Label c?earjy , 12

{b) Whathappens to the size of organ G when a person inhales? Y




38. The diagram below shows the dﬁfereqf’siagg’s n the growth of 3 seedling.

A

Ty At which.stage, A, B, € or D, does the seedlingist depénie on the seed
leaves for fopd? - (11

(b) -Suggedtirieasan. for your answer. s 21

|




39. Terence cariéd out an investigation fo $€& how light would affect the growthof a

phant. He watered the plant beférer[€aving itin a sealed cardbeard box a§ shown
below.

(a}

(b)

plant ifs cardboard box s -1

Terence ther picrced a tidle in the cardboard box. After a feiv days, he
'ebserveé thab ﬁiaﬂtgr _w«femterdsene -Side.

tn the dlagsa' iaei}  dedviean ™ X Be:lid ihe autline of the bex {o shéw &
possible pes loF ﬁe

& Hale m ;w "E‘e\by Terence. 11

He conducted ansther experiment using a similar set-up but this time, he

did net pieree & hole if-the oardboeard box, What weuld happen to the
plaata monthiater? Givea réason: ‘for y@fur anSWer 121

: ]

6/



ah_ pért erth wef soni He then pfaced a number of erganism Q in the. mlddle
of thé tray int the area marked by the circle.

Affer two hours, Geoerge observed ffiat most of {he siganisms were Found in-part -
Y. ‘

(a} Whatwas the aimof Scorge’s Bxperment? (1}

(b) Based on.Gearge's observauen what can he’ eenc-’lude ‘aboul erganism Q7
il

11 ' l——_—,




4t. The diagram below shows the life cycle of an insect.

.Eggs are tiny and
hundreds of it are kaid on
the: unders:de of ths

leaves, - Eg « 10 days

S 4 {mou“lts 5. —6 {xmes}
“Pupa

Fhe] pupa does el
feed and the adult
structures develop
within it

Using #he information given abeve, puta tick (v') in the correct column for each of .
the stateéments given below. . [2]

} Statement - ; True F’zjils‘é |

{a) | The adult fet_ads on neciar.

{6) | Thelarva moults 510 6 fimes
{ to giew into 4 pupa.

fc) ; Iﬁakes]ess than 2 months for
. ﬂgg to tumn mto an adult.

1 {ﬂ) Ei -‘.at%uit s’tage lasis 2103
s Wee,ks

12
€3




42, Chloe hias a beaker A filled with waler up o the 30em® and a beaker B filled: wath
green Beans up fo 50cm’as shown below:

(@]
__AtEbem®
Below 86 i’
B} féqggesf & readen for your answer in {a). 21

o




43. Sue-ann héicfa'ir‘ansparént plas,tff: étip over a floating piece of wooden cork as
shown below.

ﬂ'oéting: cork transparent plastic cup

—— trough of watef-.

She then pushied the plastic cup info thé water tift the cup wucnhes the bottom of
- the frought as shown befows.

floating cork . .:transgarent plastic cup:

LN

—— frough of water

(a) Whyis there some-water in tﬁefir’-weﬁfeﬁfpfasﬁe ctp as shown in the above
diagram? 12y

(b}  Sue-ann then poked a hole at the side of the inverted plastic cup as shown
below.

She then pushed the cup into the water again. Draw in the diagram below

to indigate the water level and the positien of the wooden cork in the

plastic cup. ' _ {1
transparent plastic eup

| trough of water

" -




Fatimah eatried: out four different experiments, W, X, Y and Z, using the same
mietat balt as shiown in the diagram: befow.

bali stops:

metal bait t
! moving

"Jever balance

(ay  Which of the above experiments, W, X, Y or Z, would enable Fafimah.fo:

A

_eondiude that the metarball is a miattei? , TAT

{b}  Explainyour answer in (a). 23

~~ Eind of Paper ~~
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EXAM PAPER 2012

SCHOOL : CHII
SUBJECT : PRIMARY 4 SCIENCE

TERM :© CA1

gt oz |3 [oi]05] 06 Q7 [ Q8 [ Q9 gio]on Q12013 [ Q14| Q15[ 016] Q17
2 | 412 |34 [4f2f3F3 1314444311

Q181019 | Q20 | Q21 | Q22 Q23 | Q24 [ Q25| Q26| Q27| Q28 QZé Q30
3 13 2 3 3 3 3 3 3 3 3 1 4

31)a)Respond to changes.
B}It needs to frap sunlight to make foed.

32)Slm:lanty Both have leaves.
leference- S has flowers but R daes not have flowers.

33)a R S @ C
biNo. Because all insects have § degs but the spider has 8 legs. It does not:

have 3 body pasts while an insect doés.

34)a)B.
B)The ball needs to be raised to bréak the material.

35)a3Metal is too heavy to wearon the riders. héad.

b)Plastic is miore sultabte H you “had an aceudent the glass will crack-oito-
your face.

36)a)The Howers turn pink.
b)The roots absorb the pink-colouréd water and:stem cariyitio e flowers.

)

! Page 1102 pagée 1

-



b)It will be big.

38ja)D.
B)It has (red /green)leaves thus it is ablé to make its own food.

39)a)

b)The plant will dle[w:lt[ leaves turn yellow, The plant is not able fo receive
any sunlight to make food:

A0¥a)itiste Find-out whtlhier organism Q pnefers wet soil or dry seil.
b)Q dike to live in: places that are wet.

41)a)Not Bb)T T T
-42)a)80cms.

h)¥here are air spaces between thie greeh behnsso water can enter to i‘mke
up these spaces.,

43)a)The air in the plastic cup can be ¢compressed,
b)

Page 2




	CHIJ ST NICHOLAS CA1


